

Werk

Label: Article

Jahr: 1976

PURL: https://resolver.sub.uni-goettingen.de/purl?316342866_0017|log70

Kontakt/Contact

[Digizeitschriften e.V.](#)
SUB Göttingen
Platz der Göttinger Sieben 1
37073 Göttingen

✉ info@digizeitschriften.de

ON CONVERGENCE OF THE FOURIER SERIES OF A CONSTRUCTIVE
FUNCTION OF WEAKLY BOUNDED VARIATION

P. FILIPEC, Praha

Abstract: The paper contains the proofs of some criteria for the convergence of the Fourier series of a constructive function. In particular, the theorem about the convergence of the Fourier series of a constructive function of weakly bounded variation is proved.

Key words: Constructive function, Fourier series of a constructive function, constructive function of weakly bounded variation.

AMS: Primary 02E99
Secondary 42A20

Ref. Ž.: 2.644.2

Introduction. One of the main results of my thesis [9] is proved in the paper. On the basis of the results of the work [9] all the basic theorems of the theory of trigonometric Fourier series hold in constructive analysis. It is possible to prove most of these results by means of the methods closely related to the methods by which they are proved in classical mathematics. This, however, does not hold for the theorem on the convergence of the Fourier series of a constructive function of weakly bounded variation. In classical mathematics this theorem is proved by means of the theorem on the representation of a function of bounded variation as the difference of two non-decrea-

sing functions. In the constructive analysis this does not hold [7] for constructive functions of weakly bounded variation and therefore it was necessary to find a different method of the proof.

Theorems 1 - 4 are constructive analogues of well-known theorems of the classical theory of Fourier series (see e.g. [8]).

Fundamental definitions. Normal algorithms [3] will be called simply "algorithms". If the algorithm \mathcal{A} is applicable to the word P , this fact is denoted by $! \mathcal{A}(P)$ and the result of the application of the algorithm \mathcal{A} to the word P is denoted by $\mathcal{A}(P)$. The Markov principle is used: For every algorithm \mathcal{A} and every word P , $\neg \neg ! \mathcal{A}(P) \supset ! \mathcal{A}(P)$ always holds. All assertions are to be understood in accordance with the rules of the constructive interpretation of propositions [4].

Natural and rational numbers as well as FR-numbers are defined in [5]. We shall often use the term "point" instead of "FR-number". An algorithm f is called a constructive function of a real variable (or only function) [6] if it satisfies the following two conditions:

1) For any FR-number x , if $!f(x)$, then $f(x)$ is FR-number;

2) $\forall xy (!f(x) \& x = y \supset !f(y) \& f(x) = f(y))$.

Any constructive function is continuous in any point in which it is defined [6]. We shall use (with or without strokes and subscripts)

m, n as variables which vary through natural numbers,

j, k, ℓ as variables which vary through integers,
 $a, b, c, t, u, v, x, y, \alpha, \beta, \gamma, \delta, \mu, \xi$ as variables which
 vary through FR-numbers and
 f, g, h as variables which vary through functions.

A set will be understood as a set of FR-numbers, i.e. the word M of the form $\bigwedge p \mathcal{F}(p)$, where p is one of the variables for FR-numbers and $\mathcal{F}(p)$ is a one-parameter formula [4] with the parameter p . For this set M we define: $q \in M \Leftrightarrow \mathcal{F}(q)$, where q is also one of the variables for FR-numbers. We denote by R the set of all FR-numbers. Let M_1 and M_2 be two sets. We define: $M_1 \subseteq M_2 \Leftrightarrow \forall x (x \in M_1 \Rightarrow x \in M_2)$. The set $\bigwedge x (a < x < b)$ (where a and b are expressions denoting FR-numbers and $a < b$) is called a segment; we denote this set by $a \Delta b$. We denote: $a \nabla b \Leftrightarrow \Leftrightarrow \bigwedge x (a < x < b)$.

A function f defined on the segment $a \Delta b$ is called a function of weakly bounded variation on $a \Delta b$ if there exists a FR-number u such that

$$\sum_{i=1}^n |f(x_i) - f(x_{i-1})| < u \text{ for } a < x_0 < x_1 < \dots < x_n < b.$$

We understand the notions of sequence of FR-numbers and functions, their convergence, polygonal function on a segment and uniformly continuous function on a segment in the usual (constructive) sense. We denote:

$$x_n \xrightarrow{m \rightarrow \infty} x \Leftrightarrow \forall m \exists n_0 \forall n (n \geq n_0 \Rightarrow |x_n - x| < 2^{-m}).$$

The concept of Lebesgue integrability and Lebesgue integral of a constructive function is defined in [1]. We denote $\mathcal{L}(f, a \Delta b)$ if f is defined on the segment $a \Delta b$ and

f is Lebesgue integrable in $a \Delta b$. One can construct an algorithm which for every a and b (where $a < b$), every function f such that $\mathcal{L}(f, a \Delta b)$ produces on the basis of the sufficient information about the function f (this information will be denoted by $[f]$) and on the basis $u, v \in a \Delta b$ the value of the Lebesgue integral of the function f from u to v . The value of the Lebesgue integral of the function f from u to v will be denoted by $\int_u^v [f(x)] dx$.

Let us note that if f is of weakly bounded variation on $a \Delta b$, then f is Lebesgue integrable on $a \Delta b$ (see [1], Theorem 1).

The following lemmas can be proved easily immediately from the definition of the Lebesgue integral. (In Lemma 1 we denote the composition of the functions f, g by $f \circ g$ and the inverse function of the function g by g_{-1} .)

Lemma 1. Let c and d be FR-numbers, let $c \neq 0$ and let g be such that $\forall x (g(x) = c \cdot x + d)$. Then

$$(*) \quad \mathcal{L}(f, a \Delta b) \equiv \mathcal{L}(f \circ g, \min(g_{-1}(a), g_{-1}(b)) \Delta \max(g_{-1}(a), g_{-1}(b)))$$

$$\text{and } \int_a^b [f(x)] dx = c \cdot \int_{g_{-1}(a)}^{g_{-1}(b)} [f(c \cdot x + d)] dx$$

if one side in $(*)$ holds.

Lemma 2. Let $\mathcal{L}(f, a \Delta b)$, let f be periodic with period u and let $u < b - a$. Then for every α and β (where $\alpha < \beta$), $\mathcal{L}(f, \alpha \Delta \beta)$ and for every FR-number c ,

$$\int_a^{a+u} [f(x)] dx = \int_c^{c+u} [f(x)] dx.$$

The functions \sin and \cos and FR-number π can be defined

by means of the well-known power series so that they have well-known properties especially those we shall use.

Fourier series

Definition. Let $\mathcal{L}(f, 0 \Delta 2\pi)$. Then obviously there exist the sequences $\{a_k\}_{k=0}^{\infty}$ and $\{b_k\}_{k=1}^{\infty}$ such that

$$(1) \quad \forall k ((k \geq 0 \Rightarrow a_k = \frac{1}{\pi} \cdot \int_0^{2\pi} [f(x) \cdot \cos kx] dx) \& \\ \& (k > 0 \Rightarrow b_k = \frac{1}{\pi} \cdot \int_0^{2\pi} [f(x) \cdot \sin kx] dx)).$$

These sequences will be called the sequences of the Fourier coefficients of the function f ; a_k, b_k will be called the Fourier coefficients of the function f ;

we shall denote by s_m^f the functions such that

$$(2) \quad \forall x (s_m^f(x) = \frac{1}{2} \cdot a_0 + \sum_{k=1}^m (a_k \cdot \cos kx + b_k \cdot \sin kx)).$$

The sequence $\{s_m^f\}_m$ will be called the Fourier series of the function f .

Notation. We shall denote by S_n the functions such that

$$(3) \quad \forall x (S_n(x) = 1 + 2 \cdot \sum_{k=1}^n \cos 2kx).$$

If $\mathcal{L}(f, 0 \Delta 2\pi)$ and f is periodic with period 2π , we shall denote this fact by $\mathcal{P}(f, 0 \Delta 2\pi)$.

Theorem 1 can be proved easily in the same way as in classical mathematics (see e.g. [8]).

Theorem 1. Let $\mathcal{L}(f, 0 \Delta 2\pi)$. Then $\forall mx (s_m^f(x) =$

$$= \frac{1}{2\pi} \cdot \int_0^{2\pi} [f(u) \cdot S_m(\frac{\mu-x}{2})] du).$$

If $\mathcal{P}(f, 0 \Delta 2\pi)$, then

$$(4) \quad \forall x (s_m^f(x) = \frac{1}{2\pi} \cdot \int_{x-\pi}^{x+\pi} [f(u) \cdot S_m(\frac{\mu-x}{2})] du \text{ \& } \\ \& s_m^f(x) = \frac{1}{\pi} \cdot \int_0^{\frac{\pi}{2}} [(f(x+2t) + f(x-2t)) \cdot S_m(t)] dt).$$

In particular, if f is a function such that $\forall x (f(x) = 1)$, we obtain

$$\forall x (1 = \frac{2}{\pi} \cdot \int_0^{\frac{\pi}{2}} [S_m(t)] dt \text{ \& } \forall x (1 = \frac{1}{2\pi} \cdot \int_0^{2\pi} [S_m(\frac{\mu-x}{2})] du \text{ \& } \\ \& 1 = \frac{1}{2\pi} \cdot \int_{x-\pi}^{x+\pi} [S_m(\frac{\mu-x}{2})] du).$$

Theorem 2. Let f be of weakly bounded variation on $a \Delta b$. Then there exists a FR-number A such that

$$(5) \quad \forall (\mu, \alpha, \beta) (\mu > 0 \text{ \& } a \leftarrow \alpha < \beta \leftarrow b \leftarrow f \Rightarrow \\ \Rightarrow |\int_{\alpha}^{\beta} [f(x) \cdot \cos(\mu x)] dx| \leftarrow \frac{A}{\mu} \text{ \& } |\int_{\alpha}^{\beta} [f(x) \cdot \sin(\mu x)] dx| \leftarrow \frac{A}{\mu}).$$

Proof. There exists u such that for every non-decreasing finite sequence $\{\alpha_k\}_{k=0}^n$ of FR-numbers in $a \Delta b$ we have

$$(6) \quad \sum_{k=1}^n |f(\alpha_k) - f(\alpha_{k-1})| \leftarrow u.$$

Then obviously also there exists v such that

$$(7) \quad \forall x (x \in a \Delta b \Rightarrow |f(x)| \leftarrow v).$$

Let $A \Leftarrow 2 \cdot (u + 3 \cdot v)$, $\mu > 0$ and $a \leftarrow \alpha < \beta \leftarrow b$. According to Lemma 1

$$(8) \quad \int_{\alpha}^{\beta} [f(x) \cdot \sin \mu x] dx = \frac{1}{\mu} \cdot \int_{\mu\alpha}^{\mu\beta} [f\left(\frac{y}{\mu}\right) \cdot \sin y] dy.$$

Obviously $\exists k \in \mathbb{N} ((k-1) \cdot \pi \leq \mu \cdot \alpha < k \cdot \pi \text{ \& } l \cdot \pi \leq \mu \cdot \beta < (l+1) \cdot \pi)$.

Let

$$(9) \quad (k-1) \cdot \pi \leq \mu \cdot \alpha < k \cdot \pi \text{ \& } l \cdot \pi \leq \mu \cdot \beta < (l+1) \cdot \pi.$$

Then obviously $k-1 \leq l$. One can construct the non-decreasing finite sequence $\{y_j\}_{j=k-1}^{l+1}$ such that

$$y_{k-1} = \mu \cdot \alpha \text{ \& } \forall j (k \leq j \leq l \Rightarrow y_j = j \cdot \pi) \text{ \& } y_{l+1} = \mu \cdot \beta.$$

We have

$$(10) \quad \int_{\mu\alpha}^{\mu\beta} [f\left(\frac{y}{\mu}\right) \cdot \sin y] dy = \sum_{j=k}^{l+1} \int_{y_{j-1}}^{y_j} [f\left(\frac{y}{\mu}\right) \cdot \sin y] dy.$$

Let $k \leq j \leq l+1$. Then $y_{j-1} \Delta y_j \subseteq (j-1) \cdot \pi \Delta j \cdot \pi$.

We have $\forall y (y \in (j-1) \cdot \pi \Delta j \cdot \pi \Rightarrow \sin y = (-1)^{j-1} \cdot |\sin y|)$.

Hence

$$(11) \quad \int_{y_{j-1}}^{y_j} [f\left(\frac{y}{\mu}\right) \cdot \sin y] dy = (-1)^{j-1} \int_{y_{j-1}}^{y_j} [f\left(\frac{y}{\mu}\right) \cdot |\sin y|] dy.$$

According to Lemma 1

$$(12) \quad \int_{y_{j-1}}^{y_j} [f\left(\frac{y}{\mu}\right) \cdot |\sin y|] dy = \int_{y_{j-1} - (j-1)\pi}^{y_j - (j-1)\pi} [f\left(\frac{t}{\mu} + \frac{j-1}{\mu} \pi\right) \cdot |\sin t|] dt.$$

Let us suppose that $k < l+1$. From (10) - (12) we obtain

$$(13) \quad \begin{cases} \int_{\mu\alpha}^{\mu\beta} [f\left(\frac{y}{\mu}\right) \cdot \sin y] dy = (-1)^{k-1} \cdot \int_{\mu\alpha - (k-1)\pi}^{\pi} [f\left(\frac{y}{\mu} + \frac{k-1}{\mu} \pi\right) \cdot |\sin y|] dy + \sum_{j=k+1}^l (-1)^{j-1} \cdot \int_0^{\pi} [f\left(\frac{y}{\mu} + \frac{j-1}{\mu} \pi\right) \cdot |\sin y|] dy + (-1)^l \cdot \int_0^{\mu\beta - l\pi} [f\left(\frac{y}{\mu} + \frac{l}{\mu} \pi\right) \cdot |\sin y|] dy. \end{cases}$$

Because of (13), (8), (7) and (9)

$$(14) \quad \left| \int_{\alpha}^{\beta} [f(x) \cdot \sin \mu x] dx \right| \leq \frac{1}{\mu} \cdot (2 \cdot v \cdot \int_0^{\pi} [\sin y] dy + \int_0^{\pi} \left[\sum_{j=k+1}^{\ell} (-1)^{j-1} \cdot f\left(\frac{y}{\mu} + \frac{j-1}{\mu} \pi\right) \cdot \sin y \right] dy).$$

Let $k = \ell + 1$. By (9) then $\ell \cdot \pi \leq \mu \cdot \alpha < \mu \cdot \beta < (\ell + 1) \cdot \pi$, hence by (8) and (7)

$$\left| \int_{\alpha}^{\beta} [f(x) \cdot \sin \mu x] dx \right| \leq \frac{1}{\mu} \cdot v \cdot \int_{\mu \alpha}^{\mu \beta} [|\sin y|] dy \leq \frac{v}{\mu} \cdot \int_{\ell \pi}^{(\ell+1)\pi} [|\sin y|] dy,$$

hence (14) holds also for $k = \ell + 1$. In view of (6), (7) and (9)

$$(15) \quad \forall y (y \in 0 \Delta \pi \Rightarrow \left| \sum_{j=k+1}^{\ell} (-1)^{j-1} \cdot f\left(\frac{y}{\mu} + \frac{j-1}{\mu} \pi\right) \right| \leq \mu + v).$$

From (14) and (15) it follows

$$(16) \quad \left| \int_{\alpha}^{\beta} [f(x) \cdot \sin \mu x] dx \right| \leq \frac{1}{\mu} \cdot (\mu + 3 \cdot v) \cdot \int_0^{\pi} [\sin y] dy = \frac{A}{\mu}.$$

Let us denote the formulas (9) and (16) by \mathcal{A} and \mathcal{B} respectively. We have proved $\mathcal{A} \supset \mathcal{B}$, hence $\exists k \ell \mathcal{A} \supset \mathcal{B}$, hence $\neg \neg \exists k \ell \mathcal{A} \supset \neg \neg \mathcal{B}$ and because $\neg \neg \exists k \ell \mathcal{A}$, we have $\neg \neg \mathcal{B}$, hence (16). The assertion (5) has been proved for sin, for cos it can be proved analogously.

Theorem 3. Let $\mathcal{L}(g, a \Delta b)$. Then

$$\int_{\alpha}^{\beta} [g(x) \cdot \sin \mu x] dx \xrightarrow{\mu \rightarrow +\infty} 0 \quad \text{uniformly with respect to } \alpha, \beta \in a \Delta b \quad \text{and} \quad \int_{\alpha}^{\beta} [g(x) \cdot \cos \mu x] dx \xrightarrow{\mu \rightarrow +\infty} 0$$

uniformly with respect to $\alpha, \beta \in a \Delta b$, i.e.

$$(17) \quad \forall m \exists \mu_0 \forall \mu \alpha \beta (\mu > \mu_0 \ \& \ \alpha, \beta \in a \Delta b \Rightarrow \left| \int_{\alpha}^{\beta} [g(x) \cdot \cos \mu x] dx \right| < 2^{-m} \ \& \ \left| \int_{\alpha}^{\beta} [g(x) \cdot \sin \mu x] dx \right| < 2^{-m}).$$

In particular, if $\mathcal{L}(f, 0 \Delta 2\pi)$ and $\{a_n\}_{n=0}^{\infty}$, $\{b_n\}_{n=1}^{\infty}$ are the sequences of the Fourier coefficients of the function f , then $a_n \xrightarrow{n \rightarrow \infty} 0$ and $b_n \xrightarrow{n \rightarrow \infty} 0$.

Proof. By Theorem 4 in [1] it follows from the definition of Lebesgue integral that for n there exists a function f of bounded variation on $a \Delta b$ (even polygonal on $a \Delta b$) such that $\int_a^b [|g(x) - f(x)|] dx < 2^{-n-1}$. By

Theorem 2 we have (5). Let $\mu_0 \leq 2^{m+1} \cdot A$. Then for $\mu > \mu_0$ (hence $2^{-m-1} > \frac{A}{\mu}$) and $\alpha, \beta \in a \Delta b$,

$$\begin{aligned} \left| \int_{\alpha}^{\beta} [g(x) \cdot \cos \mu x] dx \right| &\leq \int_{\alpha}^{\beta} [|g(x) - f(x)|] dx + \\ &+ \left| \int_{\alpha}^{\beta} [f(x) \cdot \cos \mu x] dx \right| < 2^{-m-1} + \frac{A}{\mu} < 2^{-m}. \end{aligned}$$

The assertion (17) has been proved for \cos , for \sin it can be proved analogously.

Lemma 3 is proved in the same way as in classical mathematics (see e.g. [8], the proof of Theorem 31) on the basis of Theorem 3 and using the second mean-value theorem for Lebesgue integral (see [2], p. 264).

Lemma 3. Let $\mathcal{P}(f, 0 \Delta 2\pi)$, let $0 < \sigma < c \leq \frac{\pi}{2}$ and let $\{g_m\}_m$ be the sequence of functions such that

$$\forall m \times (g_m(x) = \int_{\sigma}^c [(f(x+2t) + f(x-2t)) \cdot S_m(t)] dt).$$

Then $\{g_m\}_m$ converges uniformly on R to zero.

Notation. If $\mathcal{P}(f, 0 \Delta 2\pi)$, then we shall denote for a fixed σ by ρ_m^{σ} the function such that

$$\forall x (\rho_m^{\sigma}(x) = \frac{1}{\pi} \cdot \int_0^{\sigma} [(f(x+2t) + f(x-2t)) \cdot S_m(t)] dt).$$

Theorem 4. Let $\mathcal{P}(f, 0 \Delta 2\pi)$ and let $0 < \sigma < \frac{\pi}{2}$.

Then $\{s_m^f - s_m^{f\sigma}\}_m$ converges uniformly on \mathbb{R} to zero.

In particular, if f is such that $\forall x (f(x) = 1)$, then we

get $\frac{2}{\pi} \cdot \int_0^\sigma [S_m(t)] dt \xrightarrow{m \rightarrow \infty} 1$.

Proof. By Theorem 1 we have

$$s_m^f(x) - s_m^{f\sigma}(x) = \frac{1}{\pi} \cdot \int_\sigma^{\frac{\pi}{2}} [(f(x+2t) + f(x-2t)) \cdot S_m(t)] dt.$$

Hence by Lemma 3 (where $c = \frac{\pi}{2}$) the assertion of the theorem holds.

Lemma 4. Let for f, m, n and FR-numbers $a, b, A, x, \varepsilon, \sigma$ it holds $a < b$, $\mathcal{L}(f, a \Delta b)$, $\varepsilon > 0$, $a + \varepsilon < x < b - \varepsilon$,

$0 < \sigma < \min\left(\frac{\pi}{2}, \frac{\varepsilon}{2}\right)$, $m > \frac{1}{2} \cdot \left(\frac{\pi \cdot n}{\sigma} - 1\right)$ and

$$(18) \forall \alpha \beta (a < \alpha < \beta < b \Rightarrow \left| \int_\alpha^\beta [f(u) \cdot \sin(2m+1)\frac{u-x}{2}] du \right| < \frac{A}{2 \cdot m+1}).$$

Then

$$(19) \left| \int_{\frac{\pi m}{2m+1}}^\sigma [\varphi(x, t) \cdot S_m(t)] dt \right| < \frac{A + 4 \cdot |f(x)|}{2 \cdot m}, \text{ where}$$

$$(20) \varphi(x, t) = f(x+2t) + f(x-2t) - 2 \cdot f(x).$$

Proof. Let the assumptions of the lemma be satisfied.

Then

$$\sigma > \frac{\pi \cdot n}{2 \cdot m + 1}. \text{ Let } \sigma' \approx \frac{\pi \cdot n}{2 \cdot m + 1}. \text{ Then } 0 < \sigma' < \sigma < \frac{\pi}{2},$$

hence

$$\int_{\frac{\pi m}{2m+1}}^\sigma [\varphi(x, t) \cdot S_m(t)] dt = \int_{\sigma'}^\sigma [\varphi(x, t) \cdot \frac{\sin(2m+1)t}{\sin t}] dt = \int_{\sigma'}^\sigma [h(t) \cdot g(t)] dt,$$

where h and g are functions such that

$$(21) \quad \forall t (h(t) = g(x, t) \cdot \sin(2m+1)t)$$

$$\text{and} \quad \forall t (t \in \gamma \Delta \sigma \Rightarrow g(t) = \frac{1}{\sin t})$$

Obviously $\mathcal{L}(h, \gamma \Delta \sigma)$, g is non-increasing on $\gamma \Delta \sigma$ and $\frac{1}{\sin \gamma} \geq g(\gamma) \geq g(\sigma) \geq 0$, hence by the second mean-value theorem for Lebesgue integral ([2], p.264)

$$(22) \quad \neg \exists \xi (\gamma < \xi < \sigma \ \& \ \int_{\gamma}^{\sigma} [h(t) \cdot g(t)] dt = \frac{1}{\sin \gamma} \cdot \int_{\gamma}^{\xi} [h(t)] dt).$$

By using Lemma 1 we get for $\xi \in \gamma \Delta \sigma$:

$$(23) \quad \left\{ \begin{aligned} & \int_{\gamma}^{\xi} [h(t)] dt = \int_{\gamma}^{\xi} [g(x, t) \cdot \sin(2m+1)t] dt = \\ & = \frac{1}{2} \cdot \left(\int_{x+2\gamma}^{x+2\xi} [f(u) \cdot \sin(2m+1)\frac{u-x}{2}] du - \right. \\ & \quad \left. - \int_{x-2\xi}^{x-2\gamma} [f(u) \cdot \sin(2m+1)\frac{u-x}{2}] du \right) + \\ & \quad + 2 \cdot f(x) \cdot \frac{\cos(2m+1)\xi - \cos(2m+1)\gamma}{2 \cdot m + 1}. \end{aligned} \right.$$

We have $a < x + 2 \cdot \gamma < x + 2 \cdot \xi < x + 2 \cdot \sigma < x + \varepsilon < b$ and $a < x - \varepsilon < x - 2 \cdot \sigma < x - 2 \cdot \xi < x - 2 \cdot \gamma < b$. Hence, in view of (23) and (18)

$$|\int_{\gamma}^{\xi} [h(t)] dt| \leq \frac{A+4 \cdot |f(x)|}{2 \cdot m + 1}. \text{ Because of (22) thus}$$

$$(24) \quad |\int_{\gamma}^{\sigma} [g(x, t) \cdot S_m(t)] dt| = |\int_{\gamma}^{\sigma} [h(t) \cdot g(t)] dt| < \frac{A+4 \cdot |f(x)|}{(2 \cdot m + 1) \cdot \sin \gamma}.$$

We have $0 < \gamma < \frac{\pi}{2}$, thus $\sin \gamma \geq \frac{2}{\pi} \cdot \gamma = \frac{2 \cdot m}{2 \cdot m + 1}$. In

view of (24) we have (19).

Notation. We denote $M \subset_1 a \Delta b$ if $a < b$, M is a set and

there exists a FR-number $\varepsilon > 0$ such that
 $M \subseteq (a + \varepsilon) \Delta (b - \varepsilon)$.

Theorem 5. Let $\mathcal{D}(f, 0 \Delta 2\pi)$, $M \subset]a \Delta b$ and let there exist a FR-number A such that

$$(25) \quad \forall m, x \in M \quad a < x < b \Rightarrow \\
\Rightarrow \left| \int_a^b [f(u) \cdot \sin(2m+1) \frac{u-x}{2}] du \right| < \frac{A}{2 \cdot m+1}.$$

Then Fourier series of the function f converges on M to f .

If moreover f is uniformly continuous on a segment containing M , then the Fourier series of the function f converges uniformly on M to f .

Proof. Obviously it suffices to prove only the special assertion. Let us choose a fixed $n > 0$; there exists a FR-number $\varepsilon > 0$ such that $M \subseteq (a + \varepsilon) \Delta (b - \varepsilon)$; f is uniformly on a segment containing M ; thus there exists σ such that

$$(26) \quad 0 < \sigma < \min\left(\frac{\pi}{2}, \frac{\varepsilon}{2}\right) \quad \text{and}$$

$$(27) \quad \forall x, t \quad (x \in M \ \& \ t \in 0 \Delta \sigma) \Rightarrow |\varphi(x, t)| < \frac{1}{m^2},$$

where $\varphi(x, t)$ is the same as in (20). In view of (26) by Theorem 4 there exists $m_0 > \frac{1}{2} \cdot \left(\frac{\pi \cdot m}{\sigma} - 1\right)$ such that

$$(28) \quad \forall m, x \quad (m \geq m_0) \Rightarrow \left| S_m^f(x) - S_m^{\sigma}(x) \right| < \frac{1}{m} \ \& \ \left| \frac{2}{\pi} \int_0^{\sigma} [S_m(t) dt] - 1 \right| < \frac{1}{m}.$$

Let $m \geq m_0$ and $x \in M$. Let us denote $\gamma \equiv \frac{\pi \cdot m}{2 \cdot m+1}$. By Lemma 4

$$(29) \quad \left| \int_{\gamma}^{\sigma} [\varphi(x, t) \cdot S_m(t)] dt \right| < \frac{A + 4 \cdot |f(x)|}{2 \cdot m}. \quad \text{We have}$$

$$(30) \quad h_m^{f\sigma}(x) - f(x) = \frac{1}{\pi} \cdot \int_0^\sigma [g(x,t) \cdot S_m(t)] dt + f(x) \cdot \left(\frac{2}{\pi} \cdot \int_0^\sigma [S_m(t)] dt - 1 \right) \text{ and}$$

$$(31) \quad \int_0^\sigma [g(x,t) \cdot S_m(t)] dt = \int_0^\gamma [g(x,t) \cdot S_m(t)] dt + \int_\gamma^\sigma [g(x,t) \cdot S_m(t)] dt.$$

Clearly $0 < \gamma < \sigma$, thus in view of (27)

$$\left| \int_0^\gamma [g(x,t) \cdot S_m(t)] dt \right| \leq \frac{1}{m^2} \cdot \int_0^\gamma [|S_m(t)|] dt. \text{ Obviously for}$$

every t we have $|S_m(t)| \leq 1 + 2 \cdot m$, thus

$$\int_0^\gamma [|S_m(t)|] dt \leq (2 \cdot m + 1) \cdot \gamma = \pi \cdot m, \text{ hence}$$

$$(32) \quad \left| \int_0^\gamma [g(x,t) \cdot S_m(t)] dt \right| \leq \frac{\pi}{m}.$$

In view of (28) - (32) we have

$$\begin{aligned} |h_m^f(x) - f(x)| &\leq |h_m^f(x) - h_m^{f\sigma}(x)| + \\ &+ |h_m^{f\sigma}(x) - f(x)| \leq \frac{1}{m} \cdot \left(2 + |f(x)| + \frac{A+4 \cdot |f(x)|}{2 \cdot \pi} \right). \end{aligned}$$

Obviously there exists a FR-number B such that

$$\forall x (x \in M \Rightarrow |f(x)| \leq B), \text{ hence } |h_m^f(x) - f(x)| \leq \frac{1}{m} \cdot \left(2 + B + \frac{A+4 \cdot B}{2 \cdot \pi} \right).$$

We have proved that there exists a FR-number $C > 0$ such that

$$\forall m \exists m_0 \forall m x (m \geq m_0 \& x \in M \Rightarrow |h_m^f(x) - f(x)| \leq \frac{C}{m}).$$

Thus the special assertion holds.

An immediate consequence of this theorem is the following theorem.

Theorem 6. Let $\mathcal{P}(f, 0 \Delta 2\pi)$ and there exist FR-numbers a, b, K such that $a < b$ and

$$(33) \forall m \alpha \beta (a < \alpha < \beta < b \Rightarrow | \int_{\alpha}^{\beta} [f(u) \cdot \sin(m + \frac{1}{2})u] du | + | \int_{\alpha}^{\beta} [f(u) \cdot \cos(m + \frac{1}{2})u] du | \leftarrow \frac{K}{2 \cdot m + 1}) .$$

Then (a) the Fourier series of the function f converges on $a \nabla b$ to f and

(b) for every A and B such that, $a < A < B < b$ and f is uniformly continuous on $A \Delta B$, the Fourier series of the function f converges uniformly on $A \Delta B$ to f .

Theorem 7. Let $\mathcal{P}(f, 0 \Delta 2\sigma)$ and let f be of weakly bounded variation on $a \Delta b$.

Then (a) the Fourier series of the function f converges on $a \nabla b$ to f and

(b) for every A and B such that $a < A < B < b$ and f is uniformly continuous on $A \Delta B$, the Fourier series of the function f converges uniformly on $A \Delta B$ to f .

Proof. By Theorem 2 there exists a FR-number K such that (33) holds. Hence by Theorem 6 the assertion of the theorem holds.

R e f e r e n c e s

- [1] O. DEMUTH: Lebesgue integration in constructive analysis, Dokl. akad. nauk SSSR 160(1965), 1239-1241 (in Russian).
- [2] O. DEMUTH: Mean-value theorems for constructive Lebesgue integral, Comment. Math. Univ. Carolinae 11(1970), 249-269 (in Russian).
- [3] A.A. MARKOV: Theory of algorithms, Trudy Mat. Inst. Steklov, no. 42, Moscow, 1954; English transl., Israel Program for Scientific Translations, Jerusalem, 1961.

- [4] N.A. ŠANIN: A constructive interpretation of mathematical judgments, Trudy Mat. Inst. Steklov 52 (1958), 226-311; English transl., Amer. Math. Soc. Transl. (2)23(1963), 109-189.
- [5] N.A. ŠANIN: Constructive real numbers and constructive functional spaces, Trudy Mat. Inst. Steklov 67(1962), 15-294 (in Russian).
- [6] G.S. CEJTIN: Algorithmic operators in constructive metric spaces, Trudy Mat. Inst. Steklov 67(1962), 295-361 (in Russian).
- [7] I.D. ZASLAVSKIJ and G.S. CEJTIN: Singular coverings and properties of constructive functions connected with them, Trudy Mat. Inst. Steklov 67(1962), 458-502 (in Russian).
- [8] G.H. HARDY and W.W. ROGOSINSKI; Fourier Series, Cambridge, 1962.
- [9] P. FILIPEC: Fourier Series in constructive mathematics, Master Thesis, Prague, 1970 (in Czech).

Stavební fakulta
ČVUT
Žitkova 4, Praha 6
Československo

(Oblatum 16.8.1976)

